

Multiply by 10^{-3} (F)

Find each product.

$$4.7 \times 10^{-3} =$$

$$7.474 \times 10^{-3} =$$

$$0.2542 \times 10^{-3} =$$

$$2.5 \times 10^{-3} =$$

$$8.77 \times 10^{-3} =$$

$$3.51 \times 10^{-3} =$$

$$5.5861 \times 10^{-3} =$$

$$2.44 \times 10^{-3} =$$

$$4.1244 \times 10^{-3} =$$

$$1.9 \times 10^{-3} =$$

$$7.931 \times 10^{-3} =$$

$$8.57 \times 10^{-3} =$$

$$2.2 \times 10^{-3} =$$

$$4.931 \times 10^{-3} =$$

$$4.287 \times 10^{-3} =$$

$$4.5 \times 10^{-3} =$$

$$5.5 \times 10^{-3} =$$

$$1.66 \times 10^{-3} =$$

$$8.8576 \times 10^{-3} =$$

$$8.3 \times 10^{-3} =$$